CEBTEZE AR
3 EBPFRZ LY RN
R Ee of SR
AP LREEPIREAER BB FRR R IRF A NAFERE g o] R
TRE OHBEFITRE 2T LA AN BRTI N F L 2P PCi 4 2T
o HEAPM S A ES  HRADPEELY FEA WA F AT
DI01011 % & % -

Iy |
N

It

E601010 7
1712010 * 4 st % o
E603010 7 &% %1 /2 ¥ o
E603050 p #4128 & 1 /2% o
E604010 542 % % %
[G02010 7= 7 % B JRI% ¥ o
1G03010 &t if L AFpRiE % o
- 1103060 ¢ =Ap A % -
Z)C901990 3 © 2 & F g Bl 5l % o
(L = )F199010 w fc 4o i3 % o
(L2 )H701010 Az 2 ~ B FEL ¥ o
(L 7)HHT01020 = £/ 5 B4 8 % o
(+=)JE01010 42 fF % -
(= )G202010 % & 3o 3 % -
(== ~)OHT03100 # # & 4o F % -
(4 )JZ99050 @ /i PRAx% o
(= +)G801010 A % -
(= - )JA02051 R B frE B ¥ -
(= =)1401010 - 423 2 pRAx % o
(= 2)J901020 - ks -
(z2)G901011 % - T L £

- 7 )G406061 7 % ¥ 4 44 }1 P o
(= #)F401190 = 2 f 4 » %

=

g

Ve

v

o 7N\ o 7N\ o 7N\ o 7N\ 7N\ 7N\ 7N\
S S 1.
— — — — — — — — —



TAKKRT AR

S MR ERRER A

(= )3 PRI RA F R AR ERT 4 R TE A
PRI F oW RAFTren HEIFTRAEL A NR BRI A RD A
THRXTELANAR AERYE

LAy T4 AREREFR LS v p 4 -2
RREALTARTFEBA( 0 ? TH2HBEG LA IR T EIRF )
45 92,799,860+ (3 WP £ 4 i RE T % 1,090,313+ =)

PR
2.ﬁa$+1i;z;ma% ARREKA 2R A EL AR T4 L 012,729,482 F & o
(Z )4 B E G R ic  TRRFP CEFRA 0 R RFEL 2L 5 e H R
o FAF B F T REY 6 F S D BUER
£ 41 337,963 F A (7 AL 244,538 F =) -

1EX 22
2. R v'apm £ 40 801,897+~ (7

(= )dd g

ﬂ}l
L%ﬁ%%ﬁ%iw,1%1%44m(§? £ 91710,927 + &)
2. eai KRG A EF T RIRT R o o A E RS BULARE F oK
15,461 + =~

TEELR €T Firy
REFAL AEe o~ 2 PR EE L5 0 {IA R

FAA 33,450 F =)
Bk E 411 00 2 TR K

*?’3‘;%? I

(z )7%F »
¥
1. ;f;fﬁ?‘iﬁ@]“‘éi ‘_‘q“_/k‘f“ iRE R
2%‘3)‘;]_;‘:]’:5443 F= EPRI AL?]]}E‘:]K,T .—% )

% 51,993 * = -
£ A #gt 103,615

F = o
(IIREFEFEE 2 PR TREDFRF B2 4350 AT 2p it A 80P 3
Loy R RuEE 23k (T£ 57 28,800 +F =~ -
2.1 RO AHRITR B2 MRV LA AL L E R TR0 152,TT2F ~ o

S.HEY Pl R ke TR £ 1735308+ % ¢



